800E PRO HIZ2BHEE TS

Primary hole position designed for T-REX 700E/700E DFC/800E PRO DFC
FR3LI@A R © T-REX 700E/700E DFC/800E PRO DFC

~ :
§ © m © [ ooy
M3 Washer M3 Set screw Socket screw

El x4 1E R x4 L) x4

800E PRO Landing skid
800E PRO 122

M3 Set screw
M348 4% M3xdmm

L
} Skid pipe end caj
] i S
=\ W \
W N\
) . vV
.
J
M3 Washer o !
Socket screw
M3 SRR p Landing skid nut
63x08ximm et | FEDY ]
o
3 i X N | Apﬁly:|m|umonnmf14:nhmdi
D g Skid pipe , lock when fixing a metal part.
Skid pipe end cap D)W, WRBE 09x325mm SHENREREAEBERTARED) |
\_ HREERIE =
/The drilling hole position suitable for T-REX 700N/800E TREKKER ADDITIONAL TOOLS N

(BILILALERLS : T-REX 700N/800E TREKKER REQUIRED FOR ASSEMBLY

B#I8

For T-REX 700N/800E TREKKER models, please refer to below illustration, accordingly drill the hole
by using ¢ 3mm drill tool.

T-REX 700N/800E TREKKER {7 » &S T@IBT 218 + 3 0 3MILTRAETMNL -

Drill
SHER 0 3mmxt

Drilling locations are here
PILAIE

Drill
R 0 3mm

G20441 2013.Aug.13



